


RIW

CUPRA

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

2 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

ATECA

CUPRA

2018 -

VW2008
TIE ROD END RH

VW2009
TIE ROD END LH

VW2033
TIE ROD END RH

VW2034
TIE ROD END LH

VW3026
AXIAL JOINT

VW4014
LINK STABILIZER FRONT

VW4035
LINK STABILIZER REAR

AU9009
CONTROL ARM REAR LOWER

AU9013

CONTROL ARM REAR LOWER LH

VW6055J

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER RH

VW6056J

WISHBONE (WITHOUT BALL JOINT)

FRONT LOWER LH

Weight : 0,412 kg /0.908 Ib
Length : 95 mm /3.74 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M12X1,5
Ball Pin Cone Diameter : 312,7

Weight : 0,412 kg / 0.908 Ib
Length : 95 mm /3.74 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M12X1,5
Ball Pin Cone Diameter : @13,5

Weight : 0,525 kg /1.157 Ib

Weight : 0,525 kg /1.157 Ib

Weight : 0,695 kg /1.532 Ib
Length : 350 mm /13.78 inch

Weight : 0,46 kg / 1.014 Ib
Material Type : Celik

Length : 335 mm /13.19 inch
Ball Pin Thread Size : M12X1,5

Weight : 0,165 kg / 0.364 Ib
Material Type : Plastic
Length : 111 mm /4.37 inch

Weight : 2,910 kg /6.415Ib
Material Type : Sheet Metal

Weight : 1,640 kg /3.616 Ib
Material Type : Sheet Metal

Material Type : Sheet Metal

Material Type : Sheet Metal

1K0423812A, 1K0423812C

1K0423812E, 1K0423812G

1K0423812J, 1K0423812K
1KD423812A

1K0423811A, 1K0423811C

1K0423811E, 1K0423811G

1K0423811J, 1K0423811K
1KD423811A

5WA423812E

5WA423811E

5WA423810D

1K0411315B, 1K0411315D

1K0411315J, 1K0411315K

1K0411315R, 5Q0411315A
5Q0411315B

5WA505465A

5Q0505311C, 5Q0505311D

5Q0505223D

3Q0407152E, 3Q0407152F
3Q0407154B

3Q0407151E, 3Q0407151F
3Q0407153B

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

3

info@riw.com.tr



RIW

ATECA

STEERING & SUSPENSION
MANUFACTURER

CUPRA

2018 -

VW9004
CONTROL ARM REAR UPPER

VW9005

CONTROL ARM REAR LOWER
FORWARD

AU11068

BUSH FOR CONTROL ARM REAR
LOWER

AU11070

BUSH FOR CONTROL ARM REAR
LOWER

VW11037

BUSH FOR CONTROL ARM AND
CROSS ROD REAR

VW11042

BUSH FOR WISHBONE CENTER
SMALL

VW11057
BUSH FOR WISHBONE SMALL

VW11063
BUSH FOR WISHBONE REAR BIG

VW11075

BUSH INNER FOR CONTROL ARM
REAR LOWER FORWARD

VW11076

BUSH OUTER FOR CONTROL ARM
REAR LOWER FORWARD

AU11080

BUSH FOR CONTROL ARM FRONT
LOWER

Weight : 1,3 kg /2.866 Ib
Material Type : Sheet Metal

Weight : 0,566 kg /1.248 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Position : Lower Left And Right
Weight : 0,201 kg /0.443 Ib
Material Type : Metal

Chassis (Front / Rear) : Rear
Position : Lower
Weight : 0,100 kg /0.220 Ib

Position : Left And Right
Weight : 0.11 kg /0.243 Ib

Position : Center Left And Right
Weight : 0,182 kg /0.401 Ib

Position : Left And Right
Weight : 0,11 kg /0.243 Ib

Position : Left And Right
Weight : 0.34 kg /0.750 Ib

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0,870 kg /1.918 Ib
Note : FORWARD and INNER

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0,870 kg /1.918 Ib
Note : FORWARD and OUTER

Chassis (Front / Rear) : Front
Position : Lower
Weight : 0,135 kg /0.298 Ib

5Q0505323C, 5Q0505323D

5Q0501529C, 5Q0501529D
5Q0501529E, 5Q0501529F

PART OF 5Q0505223D, PART OF
5Q0505224D

5Q0505171, 5Q0505311C
5Q0505311CSK, 5Q0505311D
5Q0505311DSK

1K0505279A

1K0407182, 5Q0407182

701407183, 7201717
7M0501541

5Q0407183D, 5Q0407183E

Part of 5Q0501529C, Part of
5Q0501529D

Part of 5Q0501529E, Part of
5Q0501529F

Part of 5Q0501529C, Part of
5Q0501529D

Part of 5Q0501529E, Part of
5Q0501529F

5Q0505553

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

4

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER CUPRA
__________________________________________________________________________________________________________|

BORN | 2021 -

¢ VW1046

T&’ BALL JOINT ERONT LOWER Weight : 0,615 kg / 1.356 Ib 1EA407365A

; Vw2037 Weight : 0,525 kg / 1.157 Ib

eight : 0, g /1.

TIE ROD END Length : 124 mm /4.8 inch 1EA423811B

Vw3028 Weight : 0,875 kg /1.929 Ib
D e— eignt: U, g 1 1EA423810B

AXIAL JOINT Length : 405 mm / 15.94 inch 3810

) VW4040 Weight : 0,475 kg / 1.047 Ib

—— LINK STABILIZER FRONT Material Type : Plastic Edge 1EA411315C
Length : 338 mm /13.31 inch

X VW4041 Weight : 0,245 kg /0.540 Ib

— LINK STABILIZER REAR RH Material Type : Plastic 1EA505466

Length : 214 mm /8.43 inch

VW4042 Weight : 0,245 kg /0.540 Ib

LINK STABILIZER REAR LH Material Type : Plastic 1EA505465
Length : 214 mm /8.43 inch

VW6075 ,

Weight : 3,835 kg /8.455 b
CONTROL ARM (WITH BALL JOINT) | Material Type : Sheet Metal
FRONT LOWER RH

1EA407152B

JOINT) FRONT LOWER RH

VW6076
Weight : 3,835 kg /8.455 Ib

CONTROL ARM (WITH BALL JOINT) | Material Type : Sheet Metal
FRONT LOWER LH

1EA407151B

VW6076J .
Weight : 3,195 kg /7.044 Ib

CONTROL ARM (WITHOUT BALL Material Type : Sheet Metal
JOINT) FRONT LOWER LH

1EA407151B*

VINeors) Weight : 3,195 kg /7.044 Ib
] eight : 3, g . .
CONTROL ARM (WITHOUT BALL  Material Type : Sheet Metal 1EA4071528

ﬁ VW11059 Chassis (Front / Rear) : Front
= BUSH INNER FOR CONTROL ARM | Fosition : Lower Inner 1EA407151B*, 1EA407152B*
: FRONT LOWER Weight : 0,325 kg /0.717 Ib

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

5 info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

BORN | 2021 -

CUPRA

Chassis (Front / Rear) : Front
Position : Lower Outer
Weight : 0,365 kg /0.805 Ib

l- . VW11060
= BUSH OUTER FOR CONTROL ARM
- FRONT LOWER

1EA407151B*, 1EA407152B*

FORMENTOR 2021 -

"y
v
—
[ -
o 0
S

—5

VW1031
BALL JOINT FRONT LOWER RH

VW1032
BALL JOINT FRONT LOWER LH

VW2031
TIE ROD END RH

VW2032
TIE ROD END LH

VW2033
TIE ROD END RH

VW2034
TIE ROD END LH

VW3026
AXIAL JOINT

VW3030
AXIAL JOINT

VW4014
LINK STABILIZER FRONT

Weight : 0,59 kg /1.301 Ib
Cone Size [mm] : @15,2
Ball Pin Thread Size : M12X1,5

Weight : 0,59 kg / 1.301 Ib
Cone Size [mm] : @15,2
Ball Pin Thread Size : M12X1,5

Weight : 0,515 kg /1.1351b

Weight : 0,515 kg /1.135 b

Weight : 0,525 kg /1.157 Ib

Weight : 0,525 kg /1.157 Ib

Weight : 0,695 kg /1.532 Ib
Length : 350 mm /13.78 inch

Weight : 0,655 kg / 1.444 Ib
Length : 310 mm /12.20 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,46 kg / 1.014 Ib
Material Type : Celik

Length : 335 mm /13.19 inch
Ball Pin Thread Size : M12X1,5

3C0407366B

3C0407365B

5WA423812B, 5WA423812C
5WA423812D

5WA423811B, 5WA423811C
5WA423811D

5WA423812E

S5WA423811E

5WA423810D

5WA423810C

1K0411315B, 1K0411315D

1K0411315J, 1K0411315K

1K0411315R, 5Q0411315A
5Q0411315B

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

6

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER CUPRA

FORMENTOR | 2021 -

VW4035 Weight : 0,165 kg /0.364 Ib
LINK STABILIZER REAR Material Type : Plastic 5WAS505465A
Length : 111 mm /4.37 inch

AU9009 Weight : 2,910 kg /6.415 Ib

eight : 2, g /b.
CONTROL ARM REAR LOWER Material Type : Sheet Metal P0S0R3E, SamOSSTID
AU9012 Weight : 1,640 kg / 3.616 Ib

eight : 1, g /9.

224D

CONTROL ARM REARLOWERRH  Material Type : Sheet Metal P08
AU9013 Weight : 1,640 kg /3.616 Ib

eight : 1,640 kg /3. 5Q0505223D

CONTROL ARM REAR LOWER LH Material Type : Sheet Metal

VW6055J
3Q0407152E, 3Q0407152F

WISHBONE (WITHOUT BALL JOINT) Material Type : Sheet Metal 3Q04071548
FRONT LOWER RH

G VW6056J
3Q0407151E, 3Q0407151F

WISHBONE (WITHOUT BALL JOINT) Material Type : Sheet Metal 3Q04071538
FRONT LOWER LH

Vive0os Weight : 1,3 kg /2.866 Ib
eight: 1,3 kg /2.
A CONTROL ARM REAR UPPER Material Type : Sheet Metal 5Q0505323C, 5Q0505323D
VW9005
Weight : 0,566 kg / 1.248 Ib 5Q0501529C, 5Q0501529D
CONTROL ARM REAR LOWER Material Type : Sheet Metal 5Q0501529E, 5Q0501529F
FORWARD
Vis012 Weight : 0,675 kg /1.488 Ib
eight : 0, g /1.
152
CONTROL ARM REAR LOWER Material Type : Sheet Metal 5Q05015296
FORWARD
AU11068 Chassis (Front / Rear) : Rear

Position : Lower Left And Right

BUSH FOR CONTROL ARM REAR | Weight : 0,201 kg /0.443 Ib PART OF 5Q0505223D, PART OF

LOWER Material Type : Metal 5Q0505224D
AU11070 Chassis (Front / Rear) : Rear 5Q0505171, 5Q0505311C
BUSH FOR CONTROL ARMREAR | Fosition : Lower 5Q0505311CSK, 5Q0505311D
LOWER Weight : 0,100 kg /0.220 Ib 5Q0505311DSK

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

7 info@riw.com.tr



RIW

FORMENTOR

STEERING & SUSPENSION
MANUFACTURER

CUPRA

2021 -

s

LEON

VW11037

BUSH FOR CONTROL ARM AND

CROSS ROD REAR

VW11042

BUSH FOR WISHBONE CENTER

SMALL

VW11056
BUSH FOR CROSS ROD REAR

VW11063

BUSH FOR WISHBONE REAR BIG

VW11075

BUSH INNER FOR CONTROL ARM

REAR LOWER FORWARD

VW11076

BUSH OUTER FOR CONTROL ARM

REAR LOWER FORWARD

AU11080

BUSH FOR CONTROL ARM FRONT

LOWER

Position : Left And Right
Weight : 0.11 kg /0.243 Ib

Position : Center Left And Right
Weight : 0,182 kg /0.401 Ib

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.13 kg /0.287 Ib

Position : Left And Right
Weight : 0.34 kg /0.750 Ib

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0,870 kg /1.918 Ib
Note : FORWARD and INNER

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0,870 kg /1.918 Ib
Note : FORWARD and OUTER

Chassis (Front / Rear) : Front
Position : Lower
Weight : 0,135 kg /0.298 Ib

1K0505279A

1K0407182, 5Q0407182

1K0505203A, 1K0505323D
1K0505323G, 1K0505323H
1K0505323N, 5Q0505323C

5Q0407183D, 5Q0407183E

Part of 5Q0501529C, Part of
5Q0501529D

Part of 5Q0501529E, Part of
5Q0501529F

Part of 5Q0501529C, Part of
5Q0501529D

Part of 5Q0501529E, Part of
5Q0501529F

5Q0505553

2020 -

-

e

Yy

VW1051
BALL JOINT FRONT LOWER RH

VW1052
BALL JOINT FRONT LOWER LH

VW2008
TIE ROD END RH

Weight : 0,630 kg /1.389 Ib

Weight : 0,630 kg /1.389 Ib

Weight : 0,412 kg /0.908 Ib
Length : 95 mm /3.74 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M12X1,5
Ball Pin Cone Diameter : @12,7

5Q0407366A, 5Q0407366E

5Q0407366E

1K0423812A, 1K0423812C

1K0423812E, 1K0423812G

1K0423812J, 1K0423812K
1KD423812A

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

8

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

LEON

CUPRA

2020 -

o
b
.
o

4

-
N
's

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

VW2009
TIE ROD END LH

VW2031
TIE ROD END RH

VW2032
TIE ROD END LH

VW3030
AXIAL JOINT

VW4035
LINK STABILIZER REAR

AU9009
CONTROL ARM REAR LOWER

AU9012
CONTROL ARM REAR LOWER RH

AU9013
CONTROL ARM REAR LOWER LH

VW6079J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER RH

VW6080J

CONTROL ARM (WITHOUT BALL
JOINT) FRONT LOWER LH

VW6089

CONTROL ARM (WITH BALL JOINT)
FRONT LOWER RH

Weight : 0,412 kg /0.908 Ib
Length : 95 mm /3.74 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M12X1,5
Ball Pin Cone Diameter : 13,5

Weight : 0,515 kg /1.135 |b

Weight : 0,515kg /1.1351b

Weight : 0,655 kg / 1.444 Ib
Length : 310 mm /12.20 inch
Body Thread Size : M16X1,5
Ball Pin Thread Size : M16X1,5

Weight : 0,165 kg / 0.364 Ib
Material Type : Plastic
Length : 111 mm /4.37 inch

Weight : 2,910 kg /6.415Ib
Material Type : Sheet Metal

Weight : 1,640 kg /3.616 Ib
Material Type : Sheet Metal

Weight : 1,640 kg /3.616 Ib
Material Type : Sheet Metal

Weight : 3,202 kg /7.059 Ib
Material Type : Sheet Metal

Weight : 3,202 kg / 7.059 Ib
Material Type : Sheet Metal

Weight : 3,624 kg /7.990 Ib
Material Type : Sheet Metal

1K0423811A, 1K0423811C

1K0423811E, 1K0423811G

1K0423811J, 1K0423811K
1KD423811A

5WA423812B, 5WA423812C
5WA423812D

5WA423811B, 5WA423811C
5WA423811D

5WA423810C

5WAS505465A

5Q0505311C, 5Q0505311D

5Q0505224D

5Q0505223D

5Q0407154E, 5WA407151A
5WA407152A

5Q0407153E, 5WA407151A
5WA407152A

5WA407152A

9

info@riw.com.tr



le STEERING & SUSPENSION
MANUFACTURER

LEON

CUPRA

2020 -

Y

_
‘-9)‘

¥

VW6090

CONTROL ARM (WITH BALL JOINT)

FRONT LOWER LH

VW9004
CONTROL ARM REAR UPPER

VW9012

CONTROL ARM REAR LOWER
FORWARD

AU11068

BUSH FOR CONTROL ARM REAR
LOWER

AU11070

BUSH FOR CONTROL ARM REAR
LOWER

VW11037

BUSH FOR CONTROL ARM AND
CROSS ROD REAR

VW11042

BUSH FOR WISHBONE CENTER
SMALL

VW11056
BUSH FOR CROSS ROD REAR

VW11076

BUSH OUTER FOR CONTROL ARM
REAR LOWER FORWARD

VW11183

BUSH FOR CONTROL ARM FRONT
LOWER

Weight : 3,624 kg /7.990 Ib
Material Type : Sheet Metal

Weight : 1,3 kg /2.866 Ib
Material Type : Sheet Metal

Weight : 0,675 kg /1.488 Ib
Material Type : Sheet Metal

Chassis (Front / Rear) : Rear
Position : Lower Left And Right
Weight : 0,201 kg /0.443 Ib
Material Type : Metal

Chassis (Front / Rear) : Rear
Position : Lower
Weight : 0,100 kg /0.220 Ib

Position : Left And Right
Weight : 0.11 kg /0.243 Ib

Position : Center Left And Right
Weight : 0,182 kg /0.401 Ib

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0.13 kg /0.287 Ib

Chassis (Front / Rear) : Rear
Position : Left And Right
Weight : 0,870 kg /1.918 Ib
Note : FORWARD and OUTER

Chassis (Front / Rear) : Front
Position : Lower
Weight : 0,322 kg /0.710 Ib

5WA407151A

5Q0505323C, 5Q0505323D

5Q0501529G

PART OF 5Q0505223D, PART OF
5Q0505224D

5Q0505171, 5Q0505311C
5Q0505311CSK, 5Q0505311D
5Q0505311DSK

1K0505279A

1K0407182, 5Q0407182

1K0505203A, 1K0505323D
1K0505323G, 1K0505323H
1K0505323N, 5Q0505323C

Part of 5Q0501529C, Part of
5Q0501529D

Part of 5Q0501529E, Part of
5Q0501529F

5Q0407182F, 5Q0407183D
5Q0407183E, 5Q0407183J
5Q0407183L

* Name of all vehicles, brands, models, symbols and logos, OE numbers and other third party numbers in this website and catalog are used for reference purposes only.

10

info@riw.com.tr



RIW

NOTES




le STEERING & SUSPENSION
MANUFACTURER

NOTES

Product Code Additional Information

VW1051
BALL JOINT FRONT LOWER RH

FOR VEHICLES WITH ALUMINUM WHEEL BEARING

VW1051
BALL JOINT FRONT LOWER RH

FOR VEHICLES WITH ALUMINUM WHEEL BEARING

VW1052
BALL JOINT FRONT LOWER LH

FOR VEHICLES WITH ALUMINUM WHEEL BEARING

VW1052
BALL JOINT FRONT LOWER LH

FOR VEHICLES WITH ALUMINUM WHEEL BEARING

VW11075

BUSH INNER FOR CONTROL ARM REAR
LOWER FORWARD

FORWARD and INNER

VW11076

BUSH OUTER FOR CONTROL ARM REAR
LOWER FORWARD

FORWARD and OUTER

VW2031
TIE ROD END RH

FOR VEHICLES WITH DYNAMIC STEERING

VW2032
TIE ROD END LH

FOR VEHICLES WITH DYNAMIC STEERING

VW4035
LINK STABILIZER REAR

TRIM LEVEL : MULTILINK REAR AXLE

VW6089

CONTROL ARM (WITH BALL JOINT) FRONT

LOWER RH

FOR VEHICLES WITH ALUMINUM WHEEL BEARING

VW6090

CONTROL ARM (WITH BALL JOINT) FRONT

LOWER LH

FOR VEHICLES WITH ALUMINUM WHEEL BEARING

VW9005
CONTROL ARM REAR LOWER FORWARD

FORWARD




